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Trigonometric Funciims of General Angles

Sketch a triangle in standard position whose terminal side intersects the following
coordinate point. Then find all six trigonometric functions.
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KFind the exaci value of each expression if 0° < 8 < 90°, (Q\)ac)mﬂ'\’ \\

1. If tan # = 1, find sec 8. 2.0 tan O = %, find cos 8. — Q Eg
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3. Ifsec 0 =2, find cos 8. — T
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Find the exact value of each expression if ﬁﬂ” < 8§ < 180°, ( Guac)mn‘\’ \ 5

5. i cos 8 = —;;, findsin 2 _ 3 8. Ifcot 8= —=, findcos 8. = "‘3 m
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Find the exact value of each expression if 180 < 8 < 270°, ( @\)Q.()Y‘QV'T"}' \ \ \)

7. 1f tan 8 = 1, find cos 8. :"_’_J_—_Q’__ 8. Ifsin @ = imd tan f.= .
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11.Ifesc 8 = -2, find cot 6. 12. If’ gin 8 = ——— find tan 6.
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